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1 Divergence theorem

Let v = 2%y% and verify the divergence theorem over the cube that bounds 0 < z,v, z, < a.
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Stokes  Haorem
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2 Stokes’ theorem, 1

Let b Yop
v=—f &ty ey < it
2 2 N/
A 4 | | a
T T A
ﬁ —b
botan

a) Determine § v - dl around the loop. .
b) Determine [ V x v-da for the flat surface enclosed by the loop. Verify Stokes’ theorem.
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Cylhia dteal  co-orclinakes
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Grrodli divegne ond curl
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3 Divergence theorem, cylindrical coordinates

Consider v = &,

a) Do you expect V - v to be zero or not?

b) Show that the divergence theorem is valid for a cylinder with axis along the z-axis,
radius R and height A,
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